
かたち いろ 式

ｒ６ ＝ １．かおのりんかく 赤 ｒ＝２

ｒ２０ ＝ １５．はな くろ ｒ＝０．２

Y７ ＝ ２．右目① ピンク
Ｙ＝－２（ｘ＋０．８）２＋０．８
　　　　，[ －１．２ ，－０．４ ]

笑い

Y８ ＝ ３．右目② 赤
Ｙ＝－　　　ｘ
　　　　，[ －１．２ ，－０．４ ]

怒る

Y９ ＝ ４．右目③ みどり
Ｙ＝０．６
　　　　　　，[ －１．２ ，－０．４ ]

澄まし

Y１０ ＝ ５．右目④ 青
Ｙ＝　　　ｘ＋１
　　　　　　，[ －１．２ ，－０．４ ]

泣く

Y１１ ＝ ６．左目① ピンク
Ｙ＝－２（ｘ－０．８）２＋０．８
　　　　　　，[ ０．４ ，１．２ ]

笑い

Y１２ ＝ ７．左目② 赤
Ｙ＝　　　ｘ
　　　　，[ ０．４ ，１．２ ]

怒る

Y１３ ＝ ８．左目③ みどり
Ｙ＝０．６
　　　　　　，[ ０．４ ，１．２ ]

澄まし

Y１４ ＝ ９．左目④ 青
Ｙ＝－　　　ｘ＋１
　　　　　　，[ ０．４ ，１．２ ]

泣く

Y１５ ＝ １０．くち① 赤
Ｙ＝ｘ２－１．２
　　　　　　，[ －０．８ ，０．８ ]

笑い

Y１６ ＝ １１．くち② 黒
Ｙ＝－ｘ２－０．８
　　　　　　，[ －０．８ ，０．８ ]

困る

Y１７ ＝ １２．くち③ みどり
Ｙ＝－１．１
　　　　　　，[ －０．８ ，０．８ ]

澄まし

Y１８ ＝ １３．なみだ上 青
Ｙ＝０．２
　　　　　　，[ １．２ ，１．２ ]

泣く

Y１９ ＝ １４．なみだ下 青
Ｙ＝－０．１
　　　　　　，[ １．２ ，１．２ ]

泣く
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ｒ６：の行に合わせて、

ｒ２０：の行に合わせて、

※次の入力のために、Ｙ７：の行に合わせる

顔のパーツ


